ART. NUMBER: 47591

QUALITY POWER TOOLS SHEET: 1A/2 MODEL: PETROL BRUSH CUTTER GBC 254C PLUS, 54cc

2N

& d

¢
N

&

\
.@@ ' &

SR v.'.g\\/'r J\J w\.j ‘(

PETROL BRUSH CUTTER GBC 254C PLUS, 54cc



ART. NUMBER: 47591

QUALITY POWER TOOLS SHEET: 1B/2 MODEL: PETROL BRUSH CUTTER GBC 254C PLUS, 54cc
POS. | CODE DESCRIPTION aTY POS. | CODE DESCRIPTION aTyY POS. | CODE DESCRIPTION aTyY
1 A05159 SCREW M5X20 4 27 A05185 SCREW M5X25 10 50 A05208 SCREW M5X12 1
2 A05160 |  CONNECTOR SUPPORTS 1 28 A05186 SCREW M5X 14 2 51 A05209 MUFFLER GASKET 1
3 A05161 STARTER ASSEMBLY 1 29 A05187 WIND GUIDE COVER 1 52 A05210 CYLINDER GASKET 1
L A05162 SCREW 2 30 A05188 FLY WHEEL COVER 1 53 A12574 PISTON RING 2
5 A05163 STARTER WASHER 1 3 A05189 NUT M8 1 54 A12575 PISTON ASSEMBLY 1
b A0S 164 REAL STARTER 1 32 A05190 WASHER 3 55 A05213 BEARING NEEDLE 1
7 A05165 SMALL OIL SEAL 1 33 A05191 CLUTCH SCREW 2 56 A05214 OIL TANK ASSEMBLY 1
8 A05166 RIGHT CRANK CASE 1 3 A05192 WASHER 2 57 A05215 OIL TANK COVER 1
9 A05167 | CRANK CASE GASKET 1 35 A05193 CLUTCH SPRING 1 28 A05216 SCREW ST4.8X22 1
10 A05168 |  BEARING NEEDLE 6202 2 36 A05194 CLUTCH 2 59 A13481 | MUFFLER PROTECTION 1

11 A05237 | CRANK SHAFT ASSEMBLY 1 SET 1

A12569 CLUTCH ASSEMBLY 1
12| A05170 PIN 4 (35+36)
13 A05171 LEFT CRANK CASE 1 37 A05195 CARBURETOR 1
14 A05172 SCREW M5X30 4 38 A05196 | CARBURETOR GASKET 1
15 A05173 BIG OIL SEAL 1 39 A05197 SCREW M5X20 4
16 A05174 KEY 1 40 A05198 AIR INTAKE 1
17 A12570 FLYWHEEL 1 i A05199 AIR INTAKE GASKET 1
18 A05176 CHOKE 1 i A12571 CYLINDER 1
19 A05177 | CARBURETOR SUPPORT 1 43 A12572 | ELECTRICAL IGNITION 1
20 A05178 OIL TANK SUPPORT 1 Ly A05202 SPARK PLUG 1
21 A05179 SPONGE-AIR FILTER 1 45 A05203 SCREW ST4.8X12 1
22 A05180 AIR FILTER SCREW 1 L6 A05204 CYLINDER COVER 1
23 A05181 AIR FILTER COVER 1 CYLINDER COVER TOP
2% A05182 SCREW M5X55 2 o A0a20 COVER 1
25 A05183 SPRING WASHER 2 48 A12573 MUFFLER 1
26 A05184 WASHER 2 49 A05207 SCREW MéX60 2

PETROL BRUSH CUTTER GBC 254C PLUS, 54cc



ART. NUMBER: 47591

QUALITY POWER T0OOLS SHEET: 2/2 MODEL: PETROL BRUSH CUTTER GBC 254C PLUS, 54cc
POS. CODE DESCRIPTION ary
1 AD5217 SCREW M5X15 1
2 AD5218 CIRCINAL ASSEMBLY 1
3 A05219 SCREW 1
SET4 (4-5) | A0S5220 TUBE ASS, 1
6 A05222 DRIVE SHAFT 1
7 AD5223 SCREW M5X20 1
B AD5224 SCREW MSX25 2
SET 1(9-13,
15,(1 . A05225 HANDLE CLAMP 1
S 21(31)4' | agsoag SWITCH ASSEMBLY 1
19 A05227 CLAMP 1
20 A05228 SCREW MeX25 3
21 AD5229 SCREW M5X16 2
SET 3 (22, 23,
Joogg) | AOG30 | GEAR CASE ASSEMBLY 1
2% L6045 NYLON CUTTER 1
29 AD5232 PROTECT COVER 1
3 AD5233 SMALL BLADE 1
31 AD5234 SCREW ST4.249.5 2
3 A12576 DOUBLE BELT 1
3 A05231 BLADE 1
3% AD5235 SCREW M6X30 L
3 AD5236 |  GEAR CASE CONNECTOR 1
3% ADS242 |  PROTECT COVER PLATE 1
37 AD5243 PROTECT COVER 1

PETROL BRUSH CUTTER GBC 254C PLUS, 54cc



